
SAP ABAP table V_T334P {Generated Table for View V_T334P}

V_T334P

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LETYP [CHAR (3)]

LPTY0 [CHAR (2)]

LPTY1 [CHAR (2)]

LPTY2 [CHAR (2)]

LPTY3 [CHAR (2)]

LPTY4 [CHAR (2)]

LPTY5 [CHAR (2)]

LPTY6 [CHAR (2)]

LPTY7 [CHAR (2)]

LPTY8 [CHAR (2)]

LPTY9 [CHAR (2)]

LPT10 [CHAR (2)]

LPT11 [CHAR (2)]

LPT12 [CHAR (2)]

LPT13 [CHAR (2)]

LPT14 [CHAR (2)]

LPT15 [CHAR (2)]

LPT16 [CHAR (2)]

LPT17 [CHAR (2)]

LPT18 [CHAR (2)]

LPT19 [CHAR (2)]

LPT20 [CHAR (2)]

LPT21 [CHAR (2)]

LPT22 [CHAR (2)]

LPT23 [CHAR (2)]

LPT24 [CHAR (2)]

LPT25 [CHAR (2)]

LPT26 [CHAR (2)]

LPT27 [CHAR (2)]

LPT28 [CHAR (2)]

LPT29 [CHAR (2)]

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 V_T334P-LGNUM = T300-LGNUM 

0..N

0..N

T303

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LPTYP [CHAR (2)]

 V_T334P-LPT10 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT11 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT12 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT13 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT14 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT15 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT16 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT17 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT18 = T303-LPTYP 

0..N

{0,1}  V_T334P-LPT19 = T303-LPTYP 

0..N

{0,1}  V_T334P-LPT20 = T303-LPTYP 

0..N

{0,1}
 V_T334P-LPT21 = T303-LPTYP 

0..N

{0,1}  V_T334P-LPT22 = T303-LPTYP 

0..N
{0,1}  V_T334P-LPT23 = T303-LPTYP 

0..N{0,1}

 V_T334P-LPT24 = T303-LPTYP 
0..N

{0,1}
 V_T334P-LPT25 = T303-LPTYP 

0..N{0,1}
 V_T334P-LPT26 = T303-LPTYP 0..N{0,1}

 V_T334P-LPT27 = T303-LPTYP 
0..N{0,1}

 V_T334P-LPT28 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPT29 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY0 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY1 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY2 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY3 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY4 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY5 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY6 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY7 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY8 = T303-LPTYP 

0..N

{0,1}

 V_T334P-LPTY9 = T303-LPTYP 

0..N

{0,1}

T307

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LETYP [CHAR (3)]

 V_T334P-LETYP = T307-LETYP 

0..N

1


